R AE

POWERCHINA—-0103006—-240071

PR v ] F A /K R = SR B R B DR B 208 27 5 4% 3 AR LA S i A
BERIGIH 752, Fm) R A e R 77 kA7 A SRt &R, 5% LT
FERT 2024 4 10 FJ 31 H 15 I 00 79 BRSO 85  d ad v [ H st A R

TEBA
— R

Fe | REMELHK AR = B fr #E %
1 WNmE 2*5m R 9
2 EHITEEUNEETR 80cm 3K 100
3 T2 1.9%*4m K 500
4 LT 2*5.5m K 500
5 PRI HIES ESC19 2A1/&45:L A 1
6 PRIZES 10-12 0 12
7 PRAES 10-32 0 8
8 £F 80 0 6
9 £F 100 0 2
10 BIRE »32 ¥ 40
11 BEE= DN100 A 4
12 AL DN100 A~ 10
13 HALEESDS DN150 AN 30
4 AesE DRTO0 T 2 e EhmEEER
15 EEMREREL DN100/23kisE= A~ 6
16 AtE R DN150 AN 200
17 AR DN100 0 150
18 EEMRIEREL DN100 A~ 6
19 IBEEE= DN150 B 4
20 SRR DN100 0 10
21 CHEEYIIHEREE 200*60*200 = 4
22 2253 YC-3*2.5 * 200
23 523 YC-2*2.5 * 200
24 KISk 220V FRE A 12
25 fERIRLL M16*150 = 20
26 FRKIRZZ M8*80 = 600
27 TRRE 25kg i 814
28 AR EE 20kg i 1
29 HHEREIE 58*3.55cm A 10
30 RS M8 o 1




31 VAl i et M12*200 J54% R 10
32 U BU$ 40cm/U B E 1
33 InskRE 600*200*300mm th 218
34 APHEERINNT S5W/LED %A ~ 10
35 R BN ™ 10
36 FRRIERS DC5V N 30
37 BERRIET 1000*350*50mm/&EE 200T/fg| X 80
38 EfEEET 50*27*20*12.5mm 14 1
39 BERCEBY YC-3*6+1 * 100
40 BERCEBY YC-3*4 * 100
41 BEMRCES YC-2*2.5 * 100
42 BEMRCES YC-2*1.5 * 200
43 ERE ®©51*10m R 4
44 REER 3 J/EEBR E 6
45 MRE ©25, FLHEES, 20m KEH| B 5
46 MRE ©100, FLmE=, 20m KEH| W\ 2
47 MRE 3<*5m ic) 5
48 ket 8# N 145
49 VRS PRI i) 6
50 el 25L i 10
51 MRE ©100, FEkmE=, 20m KEH| B 2
52 MRE 3 J*5m is) 5
53 pker 8# N 145
54 PGS ALY i) 6
55 e o) 25L 1 10
56 AE R DN76 A 6
57 FRA X TR AR DN125 A~ 5
58 ArERIE DN100 A~

59 7 fiRie M12*25 = 20
60 EEINFRIgE M12*50 1 50
61 | EEEIAigE 8.8 % M20*100 % 10
62 | BB AIgE 8.8 % M20*100 % 10
63 | BB AigE 4.8 % M10*40 % 100
64 ] 1.8m B * 150
65 |SEBSELEHR 25kg a 2
66 BRE 25kg i) 10
67 MimE ®100, FELFEEE=, 25mK| 1B 3
68 aT5SNs:Li] 5*8.5m Hh 2
69 EGEWLESSL 159*400 A 1
70 AEFFX KG316T/AC/220V A~ 3
71 LED 54T 300W & 10
72 G 220V/10W/E=ERK K 400
73 KT Ees 24V/1000W A 2
74 BN ETRREE 5.5KW = 1
75 SIKREA 1.5KW & 1
76 SIKREE 7.5KW & 2

A EAR A E AR E K




77 SIKREE 22KW = 1
78 REEEHIE 30kW/3 Ii/3 B & 1
79 REEEIKES 80WQ50-25-7.5B a 3
80 pEr=diE 10cm %, 300m = 5
81 R 8cm*10cm N 130
82 PhkF eGSR 435 ™ 5
83 BERCEBY YC-4*1 S 300
84 ERNZTIE 40*32*8 AN 18
85 BEEE D6 ¥ 2
86 PE @] De25 AN 15
87 RE ®25 * 200
88 RE ®50 * 100
89 RE ®100 * 40
90 BRNZEE ®100 ¥ 16
91 EERE ®32 ¥ 100
92 5B DN100 A 6
93 R E ®13 * 300
94 ez ®80/5mm & 3K 30
95 5B DN110 AN 3
96 —IRMERR 1985 s 800
97 —IRMENE %S 1985 0 800
98 [§SLii 40/42/43 P 100
99 XA 15973 o 100
100 RN 75*30 E 6
101 FRRENE 20*15cm E 4
102 FRRENE 10*5cm A 2
103 HRTFEDH 200g i) 6
104 HF A 1 30
105 biE R WAL | DN150 AN 10
106 IETRE=IE DN150*25 AN 20
107 SELELZE DN25*10 i) 20
108 FB XY SR ) DN80 AN 10
109 WEE= AL ®150*100 AN 1
110 FHRSREE ) DN100 AN 5
111 FARXI S 5] DN100 A 20
112 iRz DN80 A 2
113 Ehurs 1.2*2m = 500
114 B3R i A VA 1.2m i) 1
115 BiR 600*600mm 3K 28
116 B e i) 20
117 SEFX LA37-11ZS AN 4
118 ZiRes 380V/RLIR= N 10
119 ERBE FhEy ™ 8
120 SRESS 430*650mm A~ 800
121 EHOSF 10A ~ 40
122 PVC f&#h PVC 5 20

A EAR A E AR E K




123 b1 K 8*400 a 3
124 EiKici 5*250 a 2
125 EiKici 3*100 a 2
126 PRI 986*523mm th 1
127 BBELE e M22*135 = 700
128 IISREEE 1*1 1 3
129 SiFEkE 44993 N 15
130 BFE FER/EE 1 2
131 Ya)siens] ) ™ 70
132 B4 2*2.5 ¥ 200
133 B4 3*6+2 ¥ 200
134 B4 42 ¥ 100
135 XiE 1800# * 350
136 245 10-18 E 1
137 WER IEEP S i) 12
138 gl 160*160 A 10
139 Rinizfines LC1D40M7C 220V A 1
140 Rinizfines LC1D40 AC 220V A~ 1
141 ez RSk 12 » 20
142 MLz FBER 8 A 6
143 54T 500W ™ 3
144 eRE LT 1294 22 iz} 20
145 RiEEsEsL PC16-03 = 24
146 PE FiERR=E De50*De25*1.6mPa 0 10
147 EENZERE DN40 ™ 2
148 PE EXi De50 A 1
149 £F 150 A 2
150 1Res M22*135 = 800
151 MRE ®100, FLmE=, 10mKEH| W\ 2
152 ki M70*33mm A 10
153 F i aetel i ®20 A 300
154 MERIE L DS-IPC-T12HV3-IA(2.8mm) 0 2
155 PVC &8 ®25 ¥ 192
156 EEFERFFR ESC19 2A1 AN 5
157 BERNLLE »80 * 21
158 XEBEF 280 /55K ™ 5
159 EREE ®50 E 200
160 EOINEEE S 3*185+2*95 ¥ 290
161 ERE 25KG i) 55
162 FAKIRE M12*100 E 1550
163 EEINFRIge M8*30 ($Et¥EcIZE) E 260
164 Eirts 1.2*2.1m 419 E 500
165 R EE 20kg % 2
166 =BT 220V 10W E=BhK PiS 1500
167 NS 220V/10W/15A Bi7K o 39
168 A2 »18 * 120




169 MBI M18 A 24
170 e 3T AN 4
171 BT #1212, F#210, ESO7A (848 E 2
172 TN RZE M8*20 (2 ish, 125) E 100
173 Pher 14#,10kg/14 5 11
174 SHREBAN 5.5KW = 1
175 RENETE 100 & R 1
176 RBENES 1080B &Y % 2
177 FEE 560 AU 0 1
178 REHE ®16*20m, 2 EfNZ2, SELEIR iR 1
179 ZSEAH 800301020/10L ¥ 2
180 KRKEZFEH 4kg i) 300
181 PVC HEZKE ®110*2.0 ¥ 70
182 TRERNIEE B2 110mm % 2
183 HESSHTRRES DZ15 100/3901 100A A 1
184 RN s 20V 550 R FFX E 1
185 FAKIZE M10*100 (B, 128) E 200
186 FFEKIE ®100 1.6Mpa AN 2
187 BERSERY] YC-3*35mm?2+2 ¥ 100
188 BERELE 100*88*14 () AN 16
189 EsRENELIRE 8.8 % M20*100 iz} 30
190 BRI 8.8 % M20 25 120
191 HE M20 A 120
192 ENEER 0.9/8 = 1
193 BHE DN65*50cm i) 1
194 | #HEIEENSLLE 3KW JEEH&E 1 1
195 ERE ®20*1.6mpa ¥ 500
196 | BENZZEREL DN32 = 2
197 | 4HEREITEE5E 7.5KW EBH5R4c ™ 1
198 SEERERIRAESL HFLERE 2.0 ™ 2
199 |FEahirEeLesisueail D80 ™ 1
200 |EBEIRRECLLLUTBIER D80-3 R 1
201 i 10*500mm (2 20
202 PE E¥Z De50 AN 20
203 ®FE E ™ 1000
204 AEEHEKIE DN40 o 18
205 B DN25 A 20
206 Sk »10 A 200
207 | ESEHEKOESL ®10 &l 5
208 EEE S 1-200 (#56) 1~ 2
209 HIER ®150 = 12
210 LED 372847 1.2m = 2
211 T2 {RIPIE O B 82.22*2.62 N 150
212 iHELEEIRE DN100 N 2
213 (MESEs AARFINE i) 40
214 BN NRIEE | M14*60 (SFmR. 186) % 200

4*4?

&

[E] A7 An B 402 R




215 XA BXL = 1
216 BHE 20*30cm A 2
217 IFEEHE 26 bis) 1
218 il HE ™ 3
219 1E7KERSL 15cm ~ 300
220 yayesien:] 700mpa 0 200
221 Rt 25kg i 10
222 Panetic] 5009 i 10
223 RFR 5009 i) 20
224 PVC HiKE ®110*3.2 ¥ 103
225 ERFRRE 10kg 1% 10
226 BERER 50cm & 5 1
227 | EAEn{e4gE4EES FME ESO7A 1 1
228 | EORESNNAIZE | 8.8k M24*100 (FHiER) fan 30
229 | ERREAN AR | 109 M30*100 (HiRE) fan 30
230 RIS 40*64 » 4000
231 LED =BT 24W E 10
232 PE &LE/) De63 AN 2
233 EAW) 286 i) 5
234 | WSNSERERSL 16*1.5 AN 4
235 TAVRSEAXME R-7462A 1" = 1
236 EfHEER 88*190mm, =Bt N 100
237 ET kR 18mm a 5
238 REEF ®50 A 120
239 e 8*500mm (2 1
240 FrEEA 100cm*20cm*20cm (BkEREHA)| 3 40
241 BIEFE 30cm P 10
242 N95 = IR >95% o 100
243 S8 86-2/800A i) 2
244 RS B510 ®10 ic} 200
245 PUSE »16 & 2
246 SEZIE »16 ™ 10
247 SEEE »16 ™ 10
248 Bl 100 B¢ i) 4
249 CIREIE 100 &Y ~ 10
250 a58 »8 £ 2
251 IRE »8 2 2
252 a5 YQY-08 A 2
253 R YQE-08 A 2
254 BETE=E zE 1~ 2
255 Py r e 71T®1.2 82 10
256 s (w5 50m? * 30
257 wiE B508 ®8 is) 550
258 NG gk ®16 AN 20
259 BERCEBY YC-3*6+1 K 35
260 AFOE7F 500A ™ 20

4*4?

&

& A A AR &K




261 BIRA 2f,1.8cm & 140
262 SeedEsk 22*1.5 35 26*1.5H A 1
263 LS 23122C4/C3W33 4 2
264 i 1.2*1.5m = 500
265 B 1.2*2.5m = 500
266 LIS 32211 4 1
267 S 30309 s 1
268 BEEhmE 75*90*12 ™ 4
269  |EtAE FAHREE ®152 (INTEH) A 4
270 R ®150 (AINTEH) A 1
271 PN NAIER | M10%50 (BosEsssd, 928) s 120
272 [EAN T4 ®40*50cm i) 11
273 BRELE e M22*135 = 1200
274 BITIEIR 108*380 A~ 5
275 KRR EEE 109-40mm A 2
276 FEEH4ES 55KW (%&siRsk) 1 1
277 FEAAMR 6314 (#EFiR) E 2
278 WER 5K i) 4
279 FRFE 2 N 100
280 ENFEE L6-H  (#:X) = 4
281 SLIT DN-831 AN 4
282 A EEE{Y H-D510 AN 1
283 §EsEnsL 1.2 K51 i) 2
284 | sEf EERERESS 24 i5/TR E 4
285 e 1500*400*2000 E 1
286 EEE ®12 isS 2
287 FIRERAKIEIE M12*100 = 70
288 AKIRE M20*250 = 10
289 Aty | M12 ™ 30
290 REELT J\fatEsEt 0 1
291 BB G s ™ 1
292 i DN100, 1.6MPa AN 5
293 ENRE ®13 75N ™ 5
294 BRE 1.1kW =1 1
295 1E7KiE) ®50 1k7KiE o 1
296 BN E ®50 ¥ 12
297 K ®50 ¥ 300
298 RS 25A246 A 20
299 BERIKT 350mm * 20
300 B E e ®10 » 5
301 BEE O25/EE * 50
302 NEhRERY M12*35 75 a 10
303 BB 2£,1.8cm & 120
304 By 2t*5m i) 3
305 FrKER 12kW T JEREE N 2
306 LEHIRR 590ml B 53 10

A EAT AT B AR E R




307 R Fal 3m W& % 50
308 |MUf V BRMASZEE 20*28*ug V & AN 20
309 e ERIEERS 4 5/TRH E 2
310 e ERIEERS 6 /TR E 2
311 HEER 4216 450V Hh 6
312 BEX 6L2 450V B 6
313 BRE 421 600/5 h 10
314 BRE 6L2 250/5 B 17
315 | EB/EERRESTX LW5D 16Y3/3 N 5
316 FoERAE I8t HBFE (FF£L 23) E 30
317 Pres 12#, 10kg/1% & 5
318 FRKIRZ, M10*100 = 100
319 FESTER ®80 AN 100
320 BEICEY YC-3*2.5 ¥ 200
321 tizapd) AD16 22D/5 220V 41t ~ 20
322 tizapd) AD16 22D/5 220V & ~ 20
323 fizand] AD16 22D/5 220V & AN 20
324 FoERAE I8 FEEnEDR E 10
325 LED AT 1000W AN 10
326 | SRELINFEIR8.8 K, M24*90 (S aHvgs)| 4 100
327 P&zl 4*5m 5 40
328 BEHERE 4*1 * 30
329 FBBAREER EBAE AR a 50
330 TR 25*30cm a 1
331 MRE ®150, WEWLZ, FLEE=, ic} 1
332 BETEHE HPK47-005-D 5P A 20
333 U BYBZRK 25kg % 8
334 | EEFHIREIE P80OA = 20
335 SETFIeEL P90A ol 1
336 FhEI4kEE B8 JZX-22F(D)/2Z 8 §) = 1
337 KRR 12 %% N 4
338 BEE 4168 400ml i1 48
339 RENIEIR ®100 B 400
340 ERE ®25*10m xEF, MENZ, L R 5
341 | BZIHAFLIBAR 2cm B A 40
342 EREREL ®25 A 10
343 ERE UBE ®25 A 20
344 N2 R ®25 A 2
345 ERKIRE M14*100 = 100
346 MRERIPEE ®20 ¥ 1000
347 ERERNL=BE ®25 N 2
348 BRI ®25 N 2
349 g 90*90*100 % 5
350 i DN50 N 1
351 EENE 76*2.5 * 42
352 EENE 48*1.5 * 102

4*4?

&

= A P AR B




353 BEAE 60*40*1.5 * 162
354 FANE 90 &, 7500 ¥ 128
355 N L50*5.0 ¥ 60
356 TN 150cm & AN 12
357 SRS % 380ml i1 24
358 1825 J422#2 5 4 1
359 | ERRESNNEIER 109 5%, M30*100 % (SF# 4 20
360 MRE ®25*0.5m EHl, FEWLE, W| 1R 5
361 JRERMTRR S DZA7LE IP+N 25A 955 =] 20
362 | vAWTESIRETX HR6-250/310 AN 4
363 BERTEY YC-3*10+2 * 200
364 REKT ®100 i&¥E * 100
365 RN Z2 i) DN50 £ » 1
366 =Yz 425 % 5
367 [ERRES JIEEN ~ 20
368 iAo M10*100 S R7 E 4
369 ik 8*400mm (2 30
370 RIS 1.2m il 20
371 S itim m s} 5
372 | BRERRIZE 12.9 4%, M20*55 E 15
373 YSRTES T RT28-32(RO15)6A AN 30
374 P SR FEENFEFL 0 25
375 FBIEY i 1 BREBIE+ Bk SC /F O 1~ 1
376 | BERipFTEER HSC8-64A = 1
377 | =ERESN AR (1095 , M24*100 (FRIRE. i 100
378 LT 235 3 §MLL ¥ 1000
379 WEFE W= ™ 100
380 | s=ITEMLEEER FP530K3+ A~ 1
381 | BRI IR 8.8 %, M18*120 (iR 4 50
382 | EEESNNAER | 8845, M36*90 (FBIFH) s 24
383 1A 360ml ZiEREEHR X 221
384 | BEEI AR 8.84%, M20*50 (FFFsEEvMR)| & 50
385 | ERESLZH#4T 8.8, M20*80 (HWFiasvz iR 130
386 EEESsF 8.8 4%, M20*100 (BN FimteEl iR 130
387 RS DN100 (ASLHHE=) 1~ 4
388 REERE 50*30*2.0mm ¥ 6
389 TAFEERXE 220V (FHIiEM4R) i 1
390 | ERERRIEE 12.9 4%, M20*120 = 6
391 MimE ®150, WENZE, FLmiE=, isS 2
392 | =EEESN AR 4.8 M18*80 (&R 128)] # 100
393 2= DN150 I3 12
394 AE=iE DN150 N 3
395 EEiE DN150, 1.6MPa #hE= ™ 3
396 FEZRE DN150 N 12
397 B 1t*3mEE) % 4
398 TERNER DN25 (304) AN 10

A EAT AT B AR E R




399 RN i DN150, 1.6MPa A 4
400 ERESE »8 ¥ 100
401 EREREL 8 A 50
402 ERETL 8 A 50
N ©8*1m, TUR4MLL, TULFIRY
109 R $EiE M16-M14 s !
404 YEErNLLLE »6 * 100
405 e S| M6 A~ 50
406 S 6311 A 2
407 fERKIZEE M8*100 = 200
408 ESERE ®10*3m, 2 EiNZ2, SELFEIRY| 1R 1
409 =SEHE ®10*0.73m, 2 EiNZz, SELE| R 1
410 BERE ®10*2.7m, 2 EiN22, YELEER R 1
411 RnEhnEs DILM65-11N A~ 1
412 R ER 200mm = 1
413 MRE D76, W=HNL * 20
414 SEuERREEL PC16-04 A 30
415 SOH 6 i) 2
416 BIRA £1£8,1.8cm 5 40
417 BIRHG =8,1.8cm & 40
418 BIRA £2£,1.8cm 5 40
419 BIRM 1568,1.8cm & 40
420 BIRA W & 40
421 it 75 il 20
422 Wi BVR-1.5mm?2 £ 3
423 KingEESL 10KV*150mm? = 8
424 FRlEjERESL 10kV*150mm? A~ 8
425 | =IEEBAEHEREKEE 10KV = 8
426 | BERSELEIK 25kg % 8
427 HITSHBE 1.5mm?2 * 10
428 icEE 26 X 1
429 BT HTERES DZ20Y-400/3300 400A i%ERB AN 4
430 =R 300/5 AN 15
431 FREERTIFFX HD12-600/31 AN 2
432 =tEBFE IDTS1777 1.5(6)A 380V (EL/Ek88| A 4
433 BT S DZ155LEs 100T/490 100A & A~ 15
434 FE B fekes 600/5 AN 3
435 AESERE »8*18 xK 100
436 | FEL=ZEHEORF|  pnp m18 YEL=FEH 1~ 5
437 |FEL=EEAREF|  pnp m18 EL=4HHT 1~ 3
438 JERERIZIEN, | bak5008BA101AB2 JERIEEY A~ 2
439 EVA 7L 884 1m*2m JEE 3cmEVA 3K 1
440 MmeE ®100, XWEWLL, FmLHE=, R 2
441 ERINE DN25*60cm,—LZzlIM2z (inLT R 80
442 W TUHR CBFC-50 =1 1
443 Hisein T 150mm? AN 40

A EAR A E AR E K




444 | RN SRR M8*50 % 30
445 TN A2 M10*40 VG 30
446 EEIN A2 M12*40 VG 30
447 TN RZE M6*40 VG 30
448 1242 M4*50 % 30
449 El 15 B 5
450 ERl 23 £ 5
451 SIKER 22kW, 220V, 22075, | & 1
452 BN RIZE M12*60 % 28
453 RIBRIG L E 5X20 8A N 50
454 GEEIIDIDS 1.8 % a8 2
455 [EAN T4 ®©32*9m 53 30
456 SRS 1-1.5P, 33K R 2
457 AR AVAN;- L lES M10*20 % 80
458 EREERIREL T80 i) 1
459 TSR 6ES7138-6BA00-0BA0 A 3
460 fRHE 5*30 * 6
461 fRHE 4*30 ¥ 6
462 fRHE 3*15 * 6
463 ERRMERS ®12 iz} 2
464 ERRMERS ®10 iz} 2
465 ERRMERS ®9.5 iz} 2
466 ERRREES ®8 R 2
467 BRI ®6 R 2
468 BT 50*30 A 8
469 e 22KW, —i5— A~ 1
470 BRIEKEL R 50 N & 1
471 PR T PCT-223 A~ 10
472 G I FEEHISMNS  |80SP/4 BRES FHL (P& JFEEHL| 4 1
473 GRERERE ®150 1.6mpa AN 2
474 PVC HiKE ®250*5.0 * 40
475 |IRBIEITREICEAR A4*35 K & 100
476 SEEEL PC16-03 AN 38
477 KKESHER 4kg AN 150
478 BEMRCES YC-2*2.5mm? ¥ 100
479 MimE ®100, WEMLE, FLHRE, ic} 1
480 MimE ®100, WENZE, FLHRE, is} 1
481 MimE ®150, WENZE, FLmiE=, is) 1
482 Z:853 BV-4mm2, £I * 100
483 1ERE 220V 10A BEZFFL A~ 20
484 $ERE 220V 16A BEE=7|, N 10
485 FF 220V 10A BEZEETF N 2
486 PVC % 39*18cm ¥ 53
487 BERGEY YC-3x35mm2+2 ¥ 200
488 ot 18kg ¥ 2
489 BEE fErR/ R i 2

A EAR A E AR E K




490 bl 2% R22 iii) 46
491 BIRz 0.8mm % 1
492 | EERERAIZE 12.9 4%, M8*90 L3 5
493 S 6311ZZOM = 2
494 =RIEEEE 32A (& 2 MnZSHEEE) a 5
495 RE DE50 ¥ 100
496 BE DE8SO * 100
497 BE DE100 * 100
498 KK ESHE —fu ™ 150
499 2FEkiE 45359 AN 18
500 PMEIXT 22 18*3/8 5t ™ 18
501 MRE ®100, xEFHIEREL i) 2
502 =RFECEEE 160A+100A+3PN+1PN = 5
503 FREEIR mEHRL H® 1
504 EfF eSS F5= 50
505 AR ZIWANC:LE M20*70 % 100
506 DTSR 10*20*550mm " 8
507 | TArESHMEE 109-35 A 2
508 | SRAEPSMEKEISE uC208 = 1 %A EAEREK
509 YBTEIERES NM1-630S5/3300630A AN 2
510 BLAZA IBE E 1
511 PEREINE DN25*2.75mm ¥ 12
512 —RECEBIE S 600A, 4[EEK400A, 44 EB| E 1
513 SELE24E DN25*100 iz} 1
514 IS ®25 A 2
515 | =sBEs AEE | 8.8 Kk M12*40 (BtEEEF) fan 100
516 TERHHE 360mm K, E i) 6
517 BAKREXE Y180-2P(18.5kW) %R 14 1
518 SKF S EEE H313 % 1
519 FEHEYNNEE 24V a 1
520 NERREEE 4.8*30 a 2
521 IKREAES T F 16mm*70mm AN 1

L RIgESK

Lo RIRGEN N RERRIE, RN T2, 580 Ak R s i 1 i 25
WA B S TP TEAIIC B S8 I B S TemhliE . s, BE. BE R
S EATAT R NAL AT P A W RE AR AE I B W 0S8 4 I s AS B M £ 2%
H.

2+ BRI 2024 4F 11 H ARYE S0 bt Tk SR et i 3 B (PEAHAE B30
1% BCER BRI BRI [) b SETG R 2 I SR, AR T 75 SR b A S, PR it
Lt IR S I i i 25K, AR 7 NS X B AR AR S A R R AT 2K




DR o AR K B = TR SR A PR A W) H RBNE AE 27 S

THE 03 FrIit H it T.3037 45 xE Hh £

4, JREARERCER i B SO S DA T bR it S K
v BRI A A RUH AN 60 H

6 A SV 11 B 0T K

6. 1. IR A DA IR A IR Hp A N BRI [y A ¥ a7 A Hh A N R AN [ 455 Y
EACTEM AN o

6.2, b AN BAHFEMEEIOL S, KRBt & FRADT 3 4, HAE
VRIS [ A TE 100 JGoc A b (& R R (R S A0S BT T 58

6.3, s NBA RIFIBNEE, WAL TR T, WM seE . &
g IR

6.4, B AN CHENRIEAEFER SR E)  Che AN RIEAETE
PP bR ik S 2551 ) 25 1 BeAR IR o

6. 5. Febs AU —RANBL N, A TT BOEE R L R SR A

6.6, ARV AEZ KA AR .

(RIS G TR, KA TERGEN L

T Wi RESCAF RS 6, Foe BER AR BRI H BRI A kg, Wi
RS BOEAR— 1. BIA_= .

8+ FWASHfE RN o AR S5 AH A4S AR B

9, HEENR (HFH) : MO APV HEYHREHA 5T, RGN H]
R I AR BB AR S 15 A IR SR, A AAEURBE@ R J5 REAE 3 H A FIIE
DR EITT 5, TOIEMRULET, FIBR %™ S0 B DR UE G, AR PR it o
[ R A% B i j ) — VI 48 B 2k

=, BRI

KIEN: 7K = R B2 =

Hy b STV PINX PG K O S 7 [ - B RAE A 27 Sk L
03 It H £ B

5 4%: 400900

BRN: 5KE K

B 35: 15591009901

HLFHBAH: 154389777@qq. com

(@]




HEDKFK LR = AR SR A BR A mp



		www.bjca.org.cn
	2024-10-25T16:26:58+0800
	BJ
	ePolicy4CloudEss




